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QUESTION 1

Given the code fragment: 

What is the result? 

A. ab cd ef 

B. An ArrayIndexOutOfBoundsException is thrown at runtime. 

C. The compilation fails. 

D. abc def 

E. ad be cf 

Correct Answer: D 

 

QUESTION 2

Given the code fragment: 

What is the result? 

A. false true true 

B. true false false 

C. false false true 
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D. false true false 

Correct Answer: D 

 

 

QUESTION 3

Which two commands are used to identify class and module dependencies? (Choose two.) 

A. jmod describe 

B. java Hello.java 

C. jdeps --list-deps 

D. jar --show-module-resolution 

E. java --show-module-resolution 

Correct Answer: CE 

Reference: https://docs.oracle.com/en/java/javase/11/tools/jdeps.html#GUID-
A543FEBE-908A-49BF996C-39499367ADB4 

 

QUESTION 4

Given this requirement: 

Module vehicle depends on module part and makes its com.vehicle package available for all other 

modules. 

Which module-info.java declaration meets the requirement? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

 

QUESTION 5

Given: 

executed with this command: 
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java Main one two three 

What is the output of this class? 

A. The compilation fails. 

B. 1) one 2) two 3) three 

C. A java.lang.ArrayIndexOutOfBoundsException is thrown. 

D. 1) one 

E. nothing 

Correct Answer: B 
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